Division par Puissances de Dix (H)

Trouvez chaque quotient.

15+0,1 = 70 - 0,01 =
10+-1= 12 + 0,001 =
25+10 = 95 + 100 =
50+ 1000 = 29 +-100 =
38 +0,01 = 82 +0,01=
45 +-10= 4 +0,001 =
54 - 0,01 = 27 + 1=

92 + 0,001 = 99 + 0,1 =
84 +0,1= 24 +0,1=
3+0,001= 77 - 0,001 =
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Division par Puissances de Dix (H) Solutions

Trouvez chaque quotient.

15+0,1 =150 70+ 0,01 =7000
10+-1=10 12 +0,001 =12 000
25+-10=2,5 95 +100=0,95

50 +1000=0,05 29 +-100=0,29
38+ 0,01 =3800 82-+0,01=8200
45 +10=45 4+ 0,001 =4000
54 + 0,01 =5400 27 +-1=27

92 +-0,001 =92 000 99 =~ 0,1 =990

84 + 0,1 =840 24 + 0,1 =240
3+0,001=3000 77 = 0,001 =77 000
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